
𝜇0 =  4𝜋 × 10−7 𝐻/𝑚 𝜖0 = 8.85 × 10−12𝐹/𝑚 𝑐 = 3 × 108 𝑚. 𝑠−1

𝑅 = 75 𝛺 𝐿 = 0.25 𝐻

𝐶 = 100 𝜇𝐹 𝑉(𝑡) = 150 sin(500 𝑡)

  𝜔0

~ 0.01 ~ 200 ~ 40 000

~ 500 ~ 20 000 ~ 3 141

 

𝑌𝑒𝑠 

𝑁𝑜 

 Calculate the total impedance of the circuit

~ 129 ~ 785 𝑍 𝛺

~ 145 ~ 163 𝐻𝑧

  𝜙

~ 59° ~ 54°

 ~ − 23° ~ − 151° ~ 5.8°

 𝐼𝑟𝑚𝑠

~ 1.16 𝐴 ~ 2 𝐴 ~ 0.741 𝐴

~ 0.822 𝐴 ~ 1.41 𝐴 ~ 132 𝑚𝐴

 

~ 73 𝑊 ~ 101 𝑊 ~ 51 𝑊

~ 21 𝑊 ~ 174 𝑊 ~ 87 𝑊

   

 
𝑁𝑠

𝑁𝑝
= 0.021

𝑁𝑠

𝑁𝑝
= 33.8 

𝑁𝑠

𝑁𝑝
= 47.8

𝑁𝑠

𝑁𝑝
= 150

 

3136 𝑊 8500 𝑊 

1.06 × 107 𝑊 4.6 𝑘𝑊



{

𝐸𝑥 = 0                                                              

𝐸𝑦 = 2.4 sin(2𝜋 × 106 𝑡 − 𝜋 × 10−2 𝑥)

𝐸𝑧 = 0                                                              

 

2𝜋 × 106 𝐻𝑧  106  

~ 𝜋 × 10−2 ~ 2.4

 

0.005 𝑚  10−2 𝑚 

32 𝑚  200 𝑚

 

𝑥 𝑑𝑖𝑟𝑒𝑐𝑡𝑖𝑜𝑛  𝑦 𝑑𝑖𝑟𝑒𝑐𝑡𝑖𝑜𝑛 

𝑧 𝑑𝑖𝑟𝑒𝑐𝑡𝑖𝑜𝑛 𝑜𝑛𝑒 𝑑𝑖𝑟𝑒𝑐𝑡𝑖𝑜𝑛

 

 × 10−6 7.2 × 108 𝑉/𝑚 𝑇

 8 × 10−9 6.1 × 106 𝑁. 𝐶

9.0 × 1010𝑚

3.8 × 1026 𝑊 . 
 

 

~ 3.73 × 103 ~ 1.07 × 1017 𝑊 𝑁

~ 4.69 × 104  ~ 8.42 × 10−4 𝐽. 𝑠

 

~ 1.24 × 10−5 ~ 2.49 × 10−5 𝑊 𝑁

~ 7.9 × 10−6 ~ 4 × 10−12 𝑁/𝑚²

 



 

 

𝑝 = 𝑖 = 𝑚 =

 

𝑛𝑔𝑒𝑙 =

𝜃𝑐 =



 

  

  

 

  

 

 0.005 𝑚𝑚

 

• 

• 

• 

• 

 

 𝑠𝑖𝑛 𝜃 =
𝑚𝜆

𝑎
𝑠𝑖𝑛 𝜃 =

𝜆

𝑎
 

  𝑠𝑖𝑛𝜃 =
2𝜆

𝑎
 𝑠𝑖𝑛 𝜃 =

𝜆

2𝑎

 𝜆 = 650 𝑛𝑚

𝐿 = 1.0 𝑚 𝑦 =

11 𝑚𝑚 𝑎

𝜽 ≈ 𝑠𝑖𝑛𝜽 ≈ 𝑡𝑎𝑛𝜽 = 𝒚/𝑳

𝑎 ≈


